Basic understanding of

Profit & Loss

Concept Lecture - 1




Basic understanding of Profit loss & discount:

P= 20, SP= Qv of P
(= 15V, Sp = §5v %CP




How to calculate Profit or loss %:




Speed Building Test




Find The profit or loss Percentage If

ey
1. CP =120 SP=150+257 11. CP =600 SP =720
2. CP=1402 SP ;2/]%0' +507/. 12. CP =800 SP =900
3. CP =260 SP =325 13. CP =200 SP =500
4. CP =80 SP =120 14. CP =150 SP =250
5. CP =300 SP =400 A 2 15. CP =120 SP =130
6. CP =180 SP =200 16. CP =300 SP =450
7. CP =240 SP =280 S  4C 17. CP =280 SP =320
8. CP =160 SP =220 3\@ 18. CP=330 SP =420
9. CP =175 SP =200 +) 19. CP=360 SP =560
10. CP =250 SP =300 20. CP =400 SP =650




Find the Selling Price, If s CPX,lqépsf’

1. CP=100, Profit=40% /10 ' 11 cp=270

2. CP=80  Profit=20% 2. CP=480

3. CP=150 it=33. 3. cP =2

4 CP =180 = SF 14. CP {280»<5
2. CP=210+2) [Profit£10%) 23! 15. CP=

6. CP=160 Profit=25% 16. CP =360

7. CP=200 Profit=35% CPx'L_-Sp 17, CP=330

8. CP=320 Profit=50% 18. CP =960

9. CP=140 Lloss =10% <! 15v11=&7,| 19. CP =560

10. CP=240  Profit=16.66% g = CP =385

o
Profit=44. 44%
Profit=37.5%
Loss =9. 09°/§p ”
Loss =12.5% | 8
Profit=14.28% )
Profit=8.33% (p
Profit=45.45%
Profit=83.33%
Loss =62.5%
Profit=27.27%




Find the cost Price, If

OO NOUREWNE

Y
e

SP =300+ Z Profit=50%

SP =240 > Profit=33.33%
SP=180  Profit=20%
SP=405 Loss =10%

SP =325 Profit=25%
SP=140 Profit=16.66%
SP =210 Loss =12.5%
SP=340  Profit=11.11%
SP=320 Profit=14.28%
SP=450  Profit=36.36%

11.
12.
13.
14.
15.
16.
17.
18.
19.
20.

Loss =8.33%
Profit=30%
Profit=37.55
Profit=75%
Loss =20%
Profit=27.27%
Profit=83.33%
Profit=87.5%
Profit=62.5%




Find The profit or loss Percentage If

1.25 [2.20 [3.25 |4.50 5.33.33 |6.11.11 | 7. 16.66 |8.37.5 |9.14.28 |10.20
11.20 |12.12.5 [13.150 |14.66.66 |15.8.33 [16.50 |17. 18. 19. 20. 62.5
14.28 |27.27 |55.55

Find the Selling Price, If

1.140 [2.96 [3.200 |4.144 |[5.231 |6.200 |7.270 |8.480 |[9.126 |10.280
11.390 |12.660 [13.200 |14.245 |[15.240 |16.390 |17.480 |18.176 [19.210 |20.490

0

Find the cost Price, If

1.200 [2.180 (30150 |4.450 |[5.260 |6.120 |7.240 |8.306 [9.280 |10.330
11.300|12.360 [13.500 (14.400 |[15.200 |16.450 |17.440 |18.240 |19.400 |20.400




Unitary method type questions




By _selling a chair for Rs.572, a man gains
Find the cost price of the chair?

o 13 572 % # U Hdl d9HY, TF e
30% WS A g1 Fdl N AT T
572 10 AT HferA?
S a) Rs.340 b) Rs.400
Uy 2/ Rs.440 d) None of these
\o¥ T
F— CPx 120 _
A5 g~ Se

| | 10



S5

Amit sold an umbrella for Rs.680, losing
15%. The cost price of the umbrella is:

AT T 15% &) gfer & IGIT 680 FUA

# wF oI 911 ST A AN A 8

a) Rs.782 \Jz(Rs.SOO
c)Rs.578 d) None of these
68°vI5
¥5




A man sells his typewriter at 5% loss. If he
sells it for Rs.80 more, he gains 5%. The
cost price of the typewriter is:

THh IHGHAT 39 TBUIISET I 5% gl
T d9dr g1 If¢ 9§ 5@ Rs.80 ¥ 3@+
H dgar g o 39 5% o g ar gl
TRWIF I dFTT H{e T &

a) Rs.1600 b) Rs.1200

c) Rs.1000 4Rs.800




A man sold an article at a loss of 20%. If he
sells the article for Rs.12 more, he would have
gained 10%. The cost price of the article is:

THh AT & 20% Hr gfd W & ag
Il IR 9F aEG B 12 IY A0S ﬁ
d9ar &, ar 3@ 10% T BTl T
ARTd H{ed o

a) Rs.60 Rs.40 c)Rs.30 d) Rs.22
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12.57:
—-,

)

25 v,

2.5x9= | Ro

Ravi sells an article at a gain of 12%%. If he

had sold it at Rs.22.50 more, he would have
gained 25%. The cost price of the article is:

e frdlt awg #t 12-%amqraaa?n

%lma'ngzsormﬁm
ar 3@ 25% HT AT PaT | TE]
AT Hod qdTa?

a) Rs.162 Vg)f?s.llw
c) Rs.196 Rs.180




_'2 3/2
(_\. /_\

A man sold an article at a loss o @ If he

sells the article for Rs.12 more, he would have
. 1 .

gained 37 % The cost of the article is:

msam:ﬁ#u gl 9T TH TG
amluﬁa'@'a?-—cras‘rlz maﬁa:a?r
CEG IS ?ﬁw37%ma¢a’lman-—craﬁr

eI e T & o )
a) Rs. 16 ) Rs.24
c) Rs.30 d) Rs.22




|
22 xllS___

A person sells an article at 16% below its
cost price. Had he sold it for ore, he
would have gained 14%. To gain 25%, he
should sell the article for:

& gEd FH arg # 3@F Gnd
Hed ¥ 16% & T I°aT 8| PR a8
U %33 3fqF ST a9dr §, O 3/ 14%
FT AT gdl| 38 25% T A & faw
30 e A frae # agar AIRT?

a) X128 ) x137.5

c) X135 d)X130.5

| SSCCGL 12 Sep 2019 T2 | 16
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An article is sold at a profit of-13 - % Had it
been sold for X76.70 more, the profit would have
been 16 1 % The cost price of the article is:

aﬂéaq-—cms—%a:mwazﬁsrraﬁ%laﬁ
wmaﬁvemaﬁm#ﬁnm% ar
T AT 16:% B ¥ a8 T FT A
AT

a) 3,400 b) £3,600
2,600 d) 2,500

1

571

| SSC MTS 27 Oct 2021 S3 | 7
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If a man were to sell his chair fohe
would lose 25%. To gain 25% he should
sell it for: 100-25

IR F§ IMeHT gl FH Fr Rs.720
H Sudar g, a 3@ 25% HT JHAT gl
21 250 a1 FAR F QAT 3F 3@ e
H ST 9Ifge:

ATRs.1200 b) Rs.100

c) Rs.960 d) Rs.900




On selling an article for Rs.48, one loses
20%. In order to gain 20%, what would be
the selling price?

Rs.48 & fIU ' a¥d J9d W, &
20% #Y g Bt &1 200 H FAR F
fore, I Ao +m gem?

a) Rs.52 b) Rs.56

c) Rs.68 vdes.72




By selling a tape recorder for Rs.950, | lose 5%.
What per cent shall | gain in selling it for Rs.1040?

Boy. — ¢ U 37 REET HT 950 39X # Iu W, 7Y 5%
ana$magh1%Zﬁ:ﬁsﬁ1ou)mmwﬁéa

[Wov. — ¢ aTWM%\jyﬂm?
a)5 4 c)4.5 d) 9

q50 — 95 y.

o —s 5 xloug

| | 20



An article was sold at a profit of/14%.)Had it
Q7.5 been sold for 121 less, a loss of 8%/would have
/z __UY875been incurred. If the same article would have

|12] ——_J& A L526¥55een sold for(X536.25, per
| —o+x—4ED cent would have 1\ 120, -
& TF a¥ 14% F o WA a A 3%
M 3R 2121 FF & 97 AT A 8% @FA
3o gedt | Ifg ad a&q 536.25, # =it
ST, A SR FT ufeera FAT @Nm?
a) Profit, 5% b) Loss, 5%
\yloss, 2.5% d) Profit, 2. 5%

21
| SSCCGL T2, 13 Sep 2019 |



A showroom owner sells a jacket for Rs. X
and claims to make a profit of 10% He
plans to have a stall in the trade fair and
marks the same jacket at Rs. 2X. At the
stall, he allows a discount of 20% what will
be the percentage profit that he will make
at the trade fair?

TF MEHA AfAS TH sthe x § H a9dl
2] 31X 10% & < FAS FT @T FAT
g 9 W AX H A Hr
QST gorar § 3 3@ W2x%
I#fha X B gFE W, ag 20% @I
e A1 ¥ AR AX F g fhaenm
qiaIerd oTH HATTIM?

a) 80% b) 60%

\yf76% d) None of these

| | 22



A shopkeeper buys ‘60 oranges at 10 for X72,
and an equal number at 12 for X90. He

‘433> @ spends %118 on the transaction and sells all
%50

yso the oranges that he buys. If there is a profit
] 8 of 26% in the entire transaction, then what
l___ ya N4 is the selling price of 32 oranges?

506326 UF GFEGR 60 WaX 10 T 72 &
/ 3T licar g, 3N s AR TEAT 12 W

N &> 290 # @iEar g1 98 dd-&7 W 118
A& =226 Y FIAT § AR 39N gEarT @lg e

mwm%uuﬁ‘gaﬁ-aaﬁ
26% T oI @dr &, ar 32 "aX &I

Hed &1 87
X336 b) X313.60
c) X316.80 d) %320

|SSC MTS 27 Oct 2021 5213



A man sold two TV sets for X7, l(m

neither incurring a gain nor a lo If hesold
one TV set at a profit of{lZ %J then the
other TV set is sold at a Ioss of:

$E gfdd, & TV A IA+ 7,200 &
m%a’rwa?ﬂm %ﬁh;r
é’raﬁrs’l?ﬁ%laﬁa'e' v ¥
1229 & o9 WX d=aT ¥, @ qEy TV
@Ea#aaﬁwséaﬁrmam

a) 8.5% “b) 9%

c) 8% e/ 10%

| SSC MTS 18 Oct 2021 S1 |4
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